FgArea: [0 ]
NC11 P3-15
2025-04-14 (Day 14)




00000000
0000000
7777777



IIIIIIIIIIIIIIIIIIIIIIIIIIIIIII - =
X
| &N
S
)
2
—
- ©
-~
=
=
- N
T T T T T T
o o o o o o o
S re S ) S rs
™ N N — —



1 0IR

——

0. 8 A
0.5
0.4 A

0.7 -
0.6 A

0.2 A

0.1 frmm e e e

0.0

14

12

10



700 -

600 -

500

400 -

300

200

100

1 VI vs Du

T
1000

T
1500
DU

T
2000

T
2500




FR

12

0.5 -
0.4 -
0.3 -
0.2 -
0.1



1 setVI

——

120
100 -
80
60
40 -
20

12




1 (fgArea = NA)

3500

3250

3000 -

2750

2500

2250 -

2000

1750 ~

—@— ECI*10%
—0— ECO

10

12

14




—@&— PHI*10%
—@— PHO

I

2

10 12

14




Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

4 I 1 I I I I I
3500 —>— EcFzExp :
s000 | ¢ ECdef |
—>— water_ec | f

2500 :
2000

1

1500 .

mooo?x !

1

1000 I

1

Wagning: col [ EcFgro’, 'EcPltng/ ] is missing

500

25

50

75 100 125 150 175




Plot [’ ECopt’]

3500 7 —@— ECopt

3000 -

2500

2000

1500 ~

1000

500 -

0 25 50 75 100 125 150 175



Plot Sensor

and FgRec Data

0. 04 -

0.02

0. 00 -

-0. 02 ~

—0. 04 ~

——

dFVi
dFVo

day

12

14

2400

2300 -

2200

2100 -

2000

1900 ~

1800

- -
—_——

SR — — — —IORHK

fz_stock_ec .
ing: col
ECB*10%

[’ ECC’ ]

is missing

2

4

day

12

6.6 7

6.4

6.2

6.0

5.8 1

9.6 7

——

PHB*10%

Warning: col

[PHC]

is missing

4

day

12

800 -

600

400 ~

200

——

DUC

-—

day

12

14

500 -

400 ~

300 ~

200 -

100

——

FRV

-

day

12

14

0. 565 A

0. 560 ~

0. 555 A

0. 550 A

——

FRC

day

12

14




450

400

350

300

250

200

30

25

20

15

70

60

50

40

1000

800

600

400

200

3.0

2.5

2.0

1.5

1.0

0.5

1.4

1.2

1.0

0.8

0.6

Plot [["I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, ’'optETcl’],

"LAI",

" optEtRate’ ]

||

k

—

=
[ VU

|

N

|

VU A

MUY

|

\
% I N

V |
0 - 25 50 75 100 125 150 175
d
i A— N\~~~ — T
| AT M\«,\ Topt
! P M
T
U;\
N
0 25 50 75 100 125 150 175
d
yd ) T Ront
o
\—' 1
vl
L)
0 : 25 50 75 100 125 150 175
d
/v,mvmvr\u/\wr\vwf\wh _ T el
s i
A LD N\
Y8 —
0 25 50 75 100 125 150 175
d
i /" _\ —— LAl
5 s \
B AN
| / \
-/ A\
L .
_/i ~
0 25 50 75 100 125 150 175
d
i r\/\_\ —I optEtRate |
I\ V\VW\VAMVI\AW_ I —
vs
0 25 50 75 100 125 150 175




150

125

100

75

50

25

Plot [['setVl ETcl’, 'setVI fgRec', 'setVI VN,

"s1SetVI' 1]

i —8— setVl _ETcl
: —0— setVI_fgRec
: —@— setVI_VWN |
/ \ : —@— slSetVI
/ \
!
< o\{ » * < < °
°® ° °® °® ° * ® ° =0 |
1
\/‘Wo H ° ® o °
10 15 20



1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.




Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]

2300 -

2200 -

2100

2000 - ip&: col ["ECC’, "FVIEC'] is missing




Plot [['FVOEC:r-o’, 'ECO:g—o’]]

3400

3200 -

3000

2800 -

2600

rning: col is missing




Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]

6.5 L @ @ @ @ @
6.4
6.3
6.2
6.1
PH| Warning: col ['PHC’, 'FVIPH ] is missing

6.0

2 4 6 8 10 12




Plot [['FVOPH:r-o’, 'PHO:g—o’]]

7.0

6.9 -

6.8 -

6.7

6.6 -

6.5 -

Warning: col ["YVOPH' ] is missing

—— PHO

10

12




Trend plot forP3-15 0

Warning: col ['minFVlraw',

"minFVOraw' ] is missing

minFVI
minFVO

Warning: col [ ETcA2ra
o @

—— ETcAl
—8— ETcA

ETcAlraw

"ETcA2' ]

is mis

O R U P

0.2
1.0 '

Warning: col ['ETcA2raw’, 'ETcA2avg’, 'ETcA2’] missing

ECopt
ECI
ECO

ttt

3000

2500

2000 -

1500

Warnfing: col ['ECC']

is missing

L iy Y ) S
| _
[ _
[ _
[ _
[ _
L
[ _
[ _
[ _
[ _

—@— PHopt
—@— PHI
—@— PHO

Warning: co c"]

is missing

31.

31.

30.

30.

—@— WCperM

29.

29.

28.5 -

Warning: col ['WCperMraw',

"WCperMavg'] is missing

P U e A e
L _
®
¢
®
®
L
®
®
¢
®

0.50 —Oo—O0—O0—O0—O—0—0—0

0. 45 -

0. 40

0. 35 A

0.30 p—0—0—0 *—0—@ —©@

minDeltaM
avgDeltaM
stdDeltaM

0.25 A

0.20 p——0

o—0—1

F@ ——— =@ ——————————————8
[
®
[
[
®
[
[
®
[

30 p—0—0—0 —o—@ *—0

28 A

26 A

begM 1
maxM
minM

24

22 -

20 p—0

F@—————————— - ——————————8
L
[ _
[
[ _
[ _
®
[ _
[ _
[
[ _

o—

adjFVOR

-0. 02 ~

—0. 04 ~

Warning: col ["adjFVIRraw’,

"adjFVIR', "adjFVORraw'

]

is missing

FRA
FRC
FRraw
FR

175 A

150 -

125

100

75 -

50 A

25 -

®
—Q—
—Q—

postFgEtraw
postFgEtavg
postFgEt




FgDaily




P3-15_0




ESo ETclis ETcPT ETcP ETcldef ETcl

1.00

0.75

0.50
°
o - 0.25
=
o)
= - 0.00
-

--0.25

()
<
§ -

-0.75
b _
[a W
o
'_ _ .
o

1

RH

1
ETcI ETcIdef ETcP ETcPT ETC|IS ESo ETol ETbal pR VPD PPFD



ETcl

ETol

VN

400 - 1 1 1 1 1

350 - . : : 1 1

300 ~

250 ~

200 ~

150 -

100 -

1600 -

1400 -

1200 -

°
D)
°
)
4
°

1000 -

800 ~

600 -

22 -

20 A

= 18 -

%
°
°

°

16

14

70

65 A

60 - - . . - -

RH

50 - . : : - -

45 © ® o - LY . L

°
°
°
°
°
®
°
L)
®e
°
°
°
°
°
°
°
°

40 - ° i ° i o i ° i °

300 - - : : - -
250 - o - o - o {1 e
200 - - : :
150 1 : :

1004 _ @ L ] . { X0 . o o e -0 o

501 @ © o 1 ° o o ¢ * o 1 e ° °

350 - ° ° - o - ° e e ®A - e ° -

325 1 e o ] ° ° ] ° ) 1T e ° ] o
300 A [ B ) E ® E ® E E

275 o - ° ] ° ° °

250 - . . : 1 1

225 - . . : 1 1
(] [ ] [ ] [ ] [ ]

2001 o ° 1e ° 1e ¢ 1 ¢ ° 7 ° ° 7
100 200 300 400 750 1000 1250 1500 15.0 17.5 20.0 22.5 40 50 60 70 100 200 300 200 250 300 350
ETcl ETol T RH VN |




1200 ~

1000 ~

800

600

400 -

200

® obs
Fit

0 50

100 150

baiA

baiB

1.0

0.4633

0. 0068

0.8 -

0.6

0.4 -

0.2 -

0.0

0.0

0.2

0.4

0.6 0.8

1.

obs

300 -

250 ~

200 -

150 ~

100 -

50 A

1.0

0.8 -

0.6 1

0.4 -

0.2 -

0.0

Fit vs obs: a=-0.47, b=192.72

r=—0.19

50

75

100

Fit

125

150

0.0

0.2

0.4

0.6

0.8 1.

175

0



hour

9:30

10:30

12:15

14:00

100

80

60

40

20



P3-15

BYiE) | EBIATK (7)) | EME (EH/HK) | XK PR

09:30 128 50. 0 53] ¥iEA@09:30 (KRR
10:30 128 50.0 A Fn#R@10:30 (REERES)
12:15 128 50. 0 1] FnHRe12:15 (RFEERLEE)
14:00 128 50.0 i FiEA@14:00 (KRBERSE)
23| 512.0 (4%) 200.0 3253 KEC: 2000.0, PH: 5.8

FHEIKECE (2160.0 vs 2970.0) R




P3-15_0, Day=14 (2025-04-14)

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

132
109

90
|

17

00 0O

FRV (ml plant-1)
o
~
1

TargetEC=2300. 0, | TargetSetEC=2000. 0

©
(S
1

TargetPH=6. 5, TargetSetPH=5.8

e
o

60

40

20 -

ET (ml/hr/plant)

o —0—e—o

oo o o o

w
o
o

=T

T
N
(=}
o

T
—_
o
o

cumET (ml/plant)

—_

.0

0 1 2 3

19 20 21 22

23

0.8 -

BH v | BH [ BA

E3 = £33 E3
B B B B

E3
B

0.6 1

0.4+

0.2~

SbOf
600
400

200 -

, 'PPFD_obs’] is missing

\ A A Warking:,‘:ol Al o

o obs'] is missing

80 A

60

Warning: lcol ['RH obs’, 'RHo obs’] is miss

.0 0.2 0.4 0.6

0.8

1.

0



100
80
60
40

20

% R
‘Zé &’%‘é_@%ﬁg @‘Z;%
] ] ¥ Q;\ %\




P3-15

BE) | EEETK (F)) | ERE (EH /) | RS TR
10:30 120 50.0 [z {’Ri%@10:30 (RF{EEEE)
21 1200 (13%) 50. 0 3Z3EKEC: 2000.0, PH: 5.6

MERRHERE STAERST (66.0 :
ZRIASERRIERE48. 0 ml.
HEEKECE (2205.0 vs 2920.0) B S

48.0), FAIREERT—RE XA 45




P3-15_0, Day=13 (2025-04-13)

40 -
190

20 - 102

68
I Warning: lcol [FVI',| "FVO’] missing

VI, VB8#RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

132

90 9677
|z 1l
|

o
Qo
=

. v
FRV

D
o
!

H
o
!

FRV (ml plant-1)
3
p

N
o
!

— M_E

maxM

o

e
©
1

o
o
1

Warning: lcol ["WC1',| "WC2'] missing

TargetEC=2300. 0, | TargetSetEC=2000. 0

Warning: lcol ['ECB’, 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

©
N
1

Warning: lcol ['PHB',| "PHC'] missing

e
o

1
Bylnit @D14 p3:08: ET=69 Fg=50.0 Ro=6.0
60

40 -

ET (ml/hr/plant)

20 -
P o—@
L el

L N R

150

- 100

- 50

cumET (ml/plant)

804 0 ] 1 ]2

A | B3 [ FA

60 17 ByEt @D13 18:38: ET=84 Fg=86.0 Ro=nan

40

20

ET (ml/hr/plant)

—eo—o—o—o

cumET (ml/plant)

0 LD y-> - Ln DN

g0d 0 | 1 [ 2 | 3[4 5[6 78

14

15

17

19

20

21 22 23

P | BA [ BH | BA | BA [ FH | BA [ BH | TA

FA

A

A

FA

FH | A

A

INE|NE|NE

1
60 1 ByWoFv @D14 03:08: ET=77 Fg=50.0 Ro=7.0

ET (ml/hr/plant)
PS

cumET (ml/plant)

10

11

17

18 19

20

21 22 23

A

A

FA

FH | A

A

INE|NE|NE

—_—
(] | _obs
—@— PPFD_obs

o VPD




29.

28.

28.

27.

33.

33.

32.

32.

32.

M_E

T
600

660 760
m=570,n FV0=0

750

M_W

570

T
575 580

28.

28.

28.

27.

27.

217.

27.

33.

32.

32.

32.

32.

32.

m=570, FV0=0

——

M_E

T
570

5%5 5é0
m=720,n FV0=0

——

M_W

T
720

T
725 730

29.

29,

28.

28.

28.

28.

27.

m=720, FV0=0

25 A

00 ~

75 -

50 A

25 A

00 -

75

——

M_E

720

725 730

33. 2 4

33.0 A

32. 8 -

32.6

32. 4 -

32.2 -

M_w

T
550

T
600

T
650

m

T
700

T
750




hour

100

8:00 -
80
- 60
12:00 -
- 40
20
17:00 -
I I I I I I I I I I _0
% AN 4@ CSHICSIING SIUR GRS
& 5 45§ & éﬁh %% Q?ggggr %2&' %§%Q§§@ %



P3-15

B 8]

AEBET K (FD)

EME (EF/H)

R

2t

0 (0X%)

0

3Z I KEC: 1890. 0,

PH: 5.8

TERRHER 2 STEELRT (132.0 :

PRIASEPRIEBL96. 0 ml.

96.0), FIREHT—i@% XA155)
EORGEBIETAK (240. 0) STHA (125. 0) A FF, W REH T % @RIERS% XEH

large discrepency for begining water status (6:87.0), set to 22.0 ml.

I [ERECE (2215.0 vs 3100. 0) 1R &




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=12 (2025-04-12)

40 -

20 A

150 §

100 A

50 -

V1, VO28RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
420

80

‘ 7I1 Warning: lcol [FVI',| "FVO’'] missing

= v

264
190

102

192
Iso
|
M_E

maxM

------------------------------------------------------------------------------------- - 600

- 400

N
o
o

FRV (ml d-1)

- 30

—r 27

26

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2300. 0,  TargetSetEC=1890. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.8

Warning: lcol ['PHB’,| 'PHC’'] missing

100 A

50

]
Bylnit @14 §3:08: ET=91 Fg=50.0 Ro=7.0

- 200

- 100

3

15

17

1
%':E

2
=]
32

NPT

FE

I3 =

U ~

8
=5
=

LU <

A

A

il o

L =2
U RS

100 A

50

ByEt @12 18:38: ET=86 Fg=18

N

.0

=

ok

0

3

g
4 5 6 7

o=han

8

- 200

- 100

10

11

12

13

14

15

16

17

19

20

21 22

23

A

NPT

FE

NI

FE

ER

%=

%=

A

A

FA

A

A

A

FA

A

A

A

A

A

FA | PBA

A

100 A

50

1
ByWoFv @D14 93:08: ET=50 Fg=0.0 Ro=0

1.0 &

- 200

- 100

20

L
21 22

23

0.8

A

) —

A

A

FA | PBA

A

0.6

0.4+

0.2~

0.0
800 4

600
400 ~

200 ~

—_—
o | _obs
—@— PPFD_obs

20 -

10

T obs
To_obs

- 29
w

=
- 28

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



29.5 -

29.0 -

28.5

28.0 -

27.5 -

27.0 -

-&— M_E

T
600

660
m=570,n FV0=0

T
700

T
750

33.5 -

33.0

32.5

32.0

M_W

570

T
575

580

m=570, FV0=0

29.5 -

29.0 -

28.5 A

28.0 -

27.5 -

27.0 -

——

M_E

T
570

5%5
m=720,n FV0=0

T
580

34. 00 A

33.75 A

33. 50 A

33. 25 A

33. 00

32. 75 A

——

M_W

T
720

T
725

730

m=720, FV0=0
—e— ME
29.5 -
29.0
28.5 -
28.0 -
27.5 15 .
720 725 730

3404 —@— MW
33.5 A
33.0 A
32.5 A
32.0 A
T T T T T
550 600 650 700 750

m




hour

100

80

- 60

- 40

20



P3-15

BE) | EEETK (F)) | ERE (EH /) | RS TR
15:50 240 50.0 [z {BRi%@15:50 (FRF{EE)
2it| 240.0 (1)%) 50.0 3233 KEC: 1840.0, PH: 6.0

TERRHEBR 2 STEELRT (132.0 :

PRIASEPRIERL94. 0 ml.
FHEIKECE (2215.0 vs 3365.0) Fs

94.0), FIREHT—I®% XA155)
EORGEBIETAK (240. 0) STHA (128. 0) A FF, W HEH T % @RIER S XEH




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=11 (2025-04-11)

-------------------------------------------------------------------------------- o5~ T 600
VI, VQgkRV, ET — VI, VO, FVI, EVO, FRV, adjFRV, ET
40 4 420
76 L 400
80
4 220
20 - 200
122 99
I I Warning: lcol [FVI',| "FVO’'] missing 63
0 I = 01
150 4 v — ME
FRV maxM | 30
100 A
50
1.0
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2300. 0,  TargetSetEC=1840.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=6.0 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
Bylnit @D14 93208: ET=123 Fg=100.0 Ro=28.0 t
100 ~ 1 - 400
1
1
1
1
50 A 1 - 200
] oo o —o—=o
1 L @ L @ & ©
0 F___:f : :: :‘ 4—: —A:i;——-—"’i —* — 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
100 EXNEXSEZS R FH BH A FH FH 5 i 5 5 5 i 5 5 5 55 55 55 55 55 [55] 400
i ; B
ByEt @D11 18:11: ET=96 Fg=356.0 Ro=nan ‘i © o © @ ©
|
50 A : - 200
oo o e —o—o
—— & S @ © & 1
0 a a a a o o 1 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
100 EXNEF S ETAESEZT N GHEREAREEERARE 5 5 5 A FH BH |/vm|/vf| A [H [A FH 400
i : B
ByWoFv @D14 93:08: ET=63 Fg=50.0 Ro=0
|
50 A : - 200
: . o o o o o000 oo oo o
b o el @ & L 2 A\.xr & © & = ) ©
1.0 P P al PS & & o & 2 a a a 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
0.8—§£ XN EFAEZIEZA R GHEREAREEERARE 5 5 5 A FH BH |/vm|/vf| A [H [A FH
0.6 -
0.4 1
0.2 A
0.0
—_— 4
[ ] | _obs
—@— PPFD obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=570, FV0=0
29.5
29, 5 e ME - ME
29.0 -
29.0 -
28 5 28.5 -
28.0 28.0 7
27.5 - 27.5 1
27.0 1 27.0 1
T T T T T T T T
550 600 650 700 750 800 570 575 580
m=780,m FV0=0 m
29.5 +
- ME —— MW
29.0 - 33 -
28.5 32
28.0 - 31
27.5 1 20
27.0 1
T T T 29 L T T T T T T
780 785 790 550 600 650 700 750 800
m=720,m FV0=0 m=780,m FV0=0
33.0
33.5 1 —— MW —— MW
32.5 -
33.0 -
32.0 -
32.5 1
31.5 -
32.0
31.0 1
31 . 5 T T T T T T
720 725 730 780 785 790

29.

29.

28.

28.

27.

32.

31.

31.

30.

30.

29.

29.

m=660, FV0=0

——

M_E

T
660

665 6%0
m=570,n FV0=0

——

M_W

T
570

T
575 580

m=720, FV0=0

29.5 -

29.0 A

28.5 A

28.0 A

27.5 A

——

M_E

T
720

7é5 750
m=660,n FV0=0

33.0 A

32.5 -

32.0 A

31.5 -

31.0 A

——

M_W

T
660

665 670







P3-15

Bfe) | GEBEK (F) | EBRE (EA/K) | XS e
09:40 120 50.0 (&= R1%@09:40 (KRF1EREE)
2it| 120.0 (1%) 50.0 32UH#KEC: 1840.0, PH: 6.0

FEREAERE STEAETRE (29.0 : 21.0), AREHTF—ASXFHE
ERGEBIRT K (52. 0) 5TIHA (125. 0) AN, AIgEA T % @EIERSEXER
ZRIASERRIERE21. 0 ml.

HEERECE (2190.0 vs 3260.0) /5



ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

FRV (ml plant-1)

P3-15_0, Day=10 (2025-04-10)

40 -

20 A

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

198

120
66
|

v
FRV

717

I Warning: lcol [FVI',| "FVO’'] missing

N
==3
N
N
S
q@
—
_Cﬂ
(=)
——
T T T
o N N
o o

0.
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2300. 0,  TargetSetEC=1840.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=6.0 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1 40
100 - Bylnit @D14 {)3:08: ET=117 Fg=100.0 Ro=13.0
: - 30
1
1
50 - ' - 20
: —o—o—o o —©
: @ = @ © - 10
b o - o o
0 S S Sl 8. 0
0 1 2 3 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 | 40
E3 E3 ES ES E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
100 Hg g g Hg 5 5 i i 5 G A B 5 G A B B B G B B B G
ByEt @D10 18:07: ET=163 Fg=288.0 Ro=nan & © - 30
. - 20
4 © L 10
p——& & \ 4 4 S 4
0 V= F- A A V= VN 0
0 1 2 3 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 | 40
100 B | g | B | B 25|25 £ |25 25|25 |25 2515525 B |25 252515=] [H EIRERS
1
ByWoFv @D14 03:08: ET=94 Fg=50.0 Ro=2.0 - 30
1
1 - 20
50 A 1
1
—— @ 4 @ @
1.0 P 2 !: : 2 2 N =— 0
0 1 2 3 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
osl fE | B [ B | HR 25|25 £ |25 25|25 |25 2515525 B |25 252515=] [H EIRERS
0.6 -
0.4 1
0.2 A
0.0
1500 4 —_ u
[ ] | _obs
1000 - —@— PPFD obs

500 -

RH
[ ] RH_obs
(] RHo_obs

o

FRV (ml d-1)

o

0

(=} (=}

o

(=} o

(=}

cumET (ml/plant)

0

o

(=}

(=}

o

cumET (ml/plant)

cumET (ml/plant)



M_E
28.5

28.0

27.5 -

27.0 -

26. 5

26.0

T T T
800 1000 1200

m=720,m FV0=0

T
600

28. 75 A

—o— ME

28. 50 A

28. 25 A

28. 00 ~

27.75

27. 50 A

i
-
5

7é5 750
m=1145q FV0=0

27.

—o— ME

27.

27.

27.

27.

L\’f

27.

11%0 11%5
m=660,n FV0=0

30. 4 - MW
30.

30.

30.

LJ

30.

660 665 670

27.

27.

27.

27.

26.

26.

28.

28.

28.

27.

21.

27.

21.

30

30

30

30

30

29

m=510, FV0=0

754 —8— ME
50
25
00 -
75 -
50
T T T
510 515 520
m=780,m FV0=0
49 —o— ME
2 .
0 .
8 .
6 .
4 -
2 .
T T T
780 785 790
m
3119 —— MW
30
29
28
600 800 1000 1200
m=720,m FV0=0
-4 —o— MW
.31
2 -
RE
.0
.9 -
720 725 730

28.

28.

28.

28.

27.

27.

27.

27.

27.

27.

26.

26.

26.

26.

30.

30.

30.

30.

30.

30.

m=600, FV0=0

75 A

50 A

25 -

00 ~

75

50 -

25 A

—0— ME

665 6%0
m=1035n FV0=0

50 A

25 A

00 -

75

50 -

25 A

00 ~

—o— ME

T
1035

1d40 1025
m=510,n FV0=0

90 ~

88 -

86

84

82 ~

80 -

—o— MW

5%5 550
m=780,n FV0=0

30. 1 -

30. 0 -

29.9

29. 8 -

29.7 -

29.6 -

M_W

28. 75 A

28. 50 A

28. 25 A

28. 00 A

27.75 A

27. 50 A

28.

28.

28.

28.

27.

21.

30.

30.

30.

30.

30.

28.

28.

28.

21.

m=660, FV0=0

—o— M_E

6é5 6;0
m=1105n FV0=0

—o— M_E

T T T
1114 1116 1118

m=600,m FV0=0

T T
1110 1112

1T —e— mw

N w - (&} [=>]
1 1 1 1

665 6%0
m=1035m FV0=0

600

41
2 4
04
g |~ M

1035 1040 1045



29.

29.

29.

29.

29.

28.

28.

m=1105, FV0=0

- MW

T
1110

T
1112

T
1114

m

T
1116

T
1118

m=1145, FV0=0
29. 50 A - MW
29. 48 ~
29. 46
29. 44
29. 42 A
29. 40 ~
T T T
1145 1150 1155




